@ Pearson

Edexcel

Mark Scheme (Results)

November 2020

Pearson Edexcel International GCSE
In Bangla (4BAO) Paper 1
Reading, Writing and Translation.



Edexcel and BTEC Qualifications

Edexcel and BTEC qualifications are awarded by Pearson, the UK’s largest awarding body. We provide
a wide range of qualifications including academic, vocational, occupational and specific programmes
for employers. For further information visit our qualifications websites at www.edexcel.com or
www.btec.co.uk. Alternatively, you can get in touch with us using the details on our contact us page
at www.edexcel.com/contactus.

Pearson: helping people progress, everywhere

Pearson aspires to be the world’s leading learning company. Our aim is to help everyone progress in
their lives through education. We believe in every kind of learning, for all kinds of people, wherever
they are in the world. We've been involved in education for over 150 years, and by working across
70 countries, in 100 languages, we have built an international reputation for our commitment to high
standards and raising achievement through innovation in education. Find out more about how we can
help you and your students at: www.pearson.com/uk

Autumn 2020

Publications Code 4BA0_01_2011_MS

All the material in this publication is copyright
© Pearson Education Ltd 2012


http://www.edexcel.com/
http://www.btec.co.uk/
http://www.edexcel.com/contactus
http://www.pearson.com/uk

General Marking Guidance

. All candidates must receive the same treatment. Examiners
must mark the first candidate in exactly the same way as they mark the
last.

o Mark schemes should be applied positively. Candidates must be

rewarded for what they have shown they can do rather than penalised
for omissions.

o Examiners should mark according to the mark scheme not
according to their perception of where the grade boundaries may lie.

o There is no ceiling on achievement. All marks on the mark
scheme should be used appropriately.

o All the marks on the mark scheme are desighed to be awarded.
Examiners should always award full marks if deserved, i.e. if the answer
matches the mark scheme. Examiners should also be prepared to award
zero marks if the candidate’s response is not worthy of credit according
to the mark scheme.

. Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

o When examiners are in doubt regarding the application of the
mark scheme to a candidate’s response, the team leader must be
consulted.

° Crossed out work should be marked UNLESS the candidate has
replaced it with an alternative response.



Paper 1 marking principles for Sections A and B

Candidate responses

For open-response questions, the candidate does not have to write in full sentences. If
appropriate, they may respond using single words or phrases.

There are no marks for quality of language in this paper, so errors and omissions in spelling
and grammar will be tolerated as long as they do not interfere with

communication.

Consider only as many elements as there are marks, for example for a 1-mark answer, the
candidate’s first response is taken for assessment, even if this response is incorrect but the
correct information follows as a further element. Where 2 marks are available, award the
individual marks discretely but apply the order of elements rule.

Written responses in the wrong language cannot be awarded a mark.

Guidance to examiners on understanding and applying the
mark scheme

Alternative ways of giving the same answer are indicated with a slash (/) in between the
alternative responses, for example: It’s cheap/affordable.

Where appropriate, responses are separated with ‘AND’ for compulsory answers and ‘OR’ for
possible answers.

Any parts of an answer that are not essential are bracketed, for example: Q: What did he
study? A: (He studied) Maths.

Candidates are likely to write variants on the acceptable answers listed, and these should be
considered as acceptable if they convey the correct answer.

All possible answers have the correct amount of marks appropriate for the information
required indicated in brackets.

Suggested incorrect answers are indicated in the ‘Reject’ column.



Paper 1: Reading, Writing and Translation mark scheme

Section A
Question | Answer Mark
number
Example: | B
1(a) C 1)
1(b) D (1)
1(c) F (1)
1(d) L (1)
1(e) K (1)
1(f) G (1)
Question | Answer Mark
number
Example: | Faria
2(a) Nayeem (1) Rashed (1) (2)
2(b) Nayeem (1)
2(c) Nayeem (1)
2(d) Faria (1)
2(e) Rashed (1)
2(f) Faria (1) Rashed (1) (2)
Question | Answer Accept Reject Mark
number
3(a) I OGCH / GIFR AI&s{Ta / eI bIF *320F (1)
MG
3(b) 8o feCerfabR BER 13T (1)
3(c) oG AT (1) APE (2)
AND
e “Afzara (1) Gfsmig 24
3(d) vg AerifoR 2T (1) QRGrg / ARART | @y 2R/ CARPTNPS (2)
AND vy WeTAlR /P R
22 2oy Sfen (1) aTRAIet
3(e) ( IPBIAFSICe) TP AT TR T AR | SFFI (1)
3(f) e o [ s (1) Pt a9 / T (2)
AND CoPBRITH (FeTaNfere S
P (T3 TreTerroT (M2 (1) T &/ y PlEsT (=13 / CPAfAE
SIS CLaIET 0
3(9) R 205 E (1) (eTIGIE P BsEll (2)
NI FICS (1)
3(h) ST ey (OO (BT (9 28T B (1)




Q4 Mark Scheme - Bengali

Question Answer Accept Reject Mark
number
4(a)(i) S O (R0T Gl | S SO ACE ez | TPS (2)
ot (1) = otredt
+
(&oae Frrmicss o) (G2 FoaT AT 3 S MG AR
SRIfRe FeT ofS CTIPA® T /ot
AR Gy | O A (2T ] HZCH (FTIPT] ]
Praics
(1)
4(a)(ii) CCF I vioe T / (T gPfon / A / et (2)
el (1) |
OR
IR (o1 (1)
OR
S (1)
WAL foafGs T SIBCF FIEC gFTFE Y O3 OO | (3)
4(a)(iii) (T T2 G2 FE | (RGOS GFIFE | 20O ARCS! A
AT (RIBI O3 oS 3Cof
T #BTS AT
(1)
OR
%9 oy ifks At
s gror A BEKE kIR
(1)
OR
(R =3 fics S— R R
ol (1) -
OR
TR TR 2T (1) LS #Fr% fre
IR S 2w | 20O
ST AT T
AFCoA
4(a)(iv) (IO of #11 I 91 A ©OF (A (1)




4(a)(v)

TG (e (1)

OR

T GBI TG
“THP (T (1)

OR

T AT T IHeas M
“THP (T (1)

GFICE AP O JIpsl | o SN s iy

(2)
Fr Im fucg syl
“THP (vt

Total marks for Q4a =10



Question Answer Accept Reject Mark
number
4(b)(i) IR (RO A1 (IR G Q- | IREACERAEB® | (2)
WWQ{W;‘T/ IR W@ﬁm I(;YCO CREEACACAMT Al
T s Hify (AT SRl AT
CRUSCICAHR IS P /LR ACL
AND
9 ) ;:I(:F d CE 2l E. a W—sq CZI ?l mw
7{8 (A A1/ camet S RS v |
N e e ¢ ERLURL
SlainEech TP 7RI
PN
4(b)(ii) - TGS B FACET ALANH BIRFI2RTA SToReTo] 2ARFCe (2)
W%HDQN\'JI T/ (RIS IR (RCACNIST i = W
ST CHBTCT TR /ST e BIf2T CBICS AT MCIRICERIR)
(RCETCACICHR SIS FICAT TR/
SISl R AT
(1)
AND GR TR IS | @Y SIS AT
AR/ ORI FeT ARCI A | P 30O AT
- Ay / SR

CREETCHNIMS G ef HPETO A0 H[CA

(1)

Total marks for Q4b =4




Section B

General guidance on using levels-based mark schemes

Step 1 Decide on a band

Examiners should first of all consider the answer as a whole and then decide which descriptors
most closely match the answer and place it in that band. The descriptors for each band indicate
the different features that will be seen in the student’s answer for that band.

When assigning a level you should look at the overall quality of the answer and not focus
disproportionately on small and specific parts of the answer where the student has not
performed quite as well as the rest. If the answer covers different aspects of different bands of
the mark scheme, you should use a ‘best fit’ approach for defining the level and then use the
variability of the response to help decide the mark within the level. For example, if the response
is predominantly in band 4-7 with a small amount of band 8-10 material, it would be placed in
band 4-7 but be awarded a mark near the top of the band because of the band 8-10 content.

Step 2 Decide on a mark

Once you have decided on a band, you will then need to decide on a mark within the band.

You will decide on the mark to award based on the quality of the answer; you will award a mark
towards the top or bottom of that band depending on how students have evidenced each of the
descriptor bullet points.

You will modify the mark based on how securely the trait descriptors are met in that band.

You will need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the band and the mark are appropriate.



Assessment Criteria
Question 5 (14 marks)

For this question, students’ work is marked by Pearson using assessment criteria
given in two mark grids:

e communication and content
e linguistic knowledge and accuracy.

The student is expected to produce 80 words for this task. The number of words is approximate and students
will not be penalised for writing more or fewer words than recommended in the word count. All work
produced by the student must be marked.

Question 5: communication and content mark grid

0 e No rewardable material

1-2 e Limited ability to use language to narrate and describe people, events and ideas;
communication of information is occasionally successful

e Repetitive use of a limited selection of common words and phrases; limited use of
appropriate register and style

3-5 e Some successful use of language to narrate and describe people, events and
ideas; communication of relevant information is sometimes successful

e Some successful but repetitive use of common, familiar vocabulary; some use of
appropriate register and style

6-7 e Successful use of language to narrate and describe people, events and ideas;
communication of information is often successful

e A range of familiar and less common vocabulary and expression is evident; mostly
appropriate use of register and style

Additional guidance

Register and style definition - language used is at a suitable level of formality for the purpose of the task
and, where appropriate, the target audience.



Question 5: linguistic knowledge and accuracy mark grid

0 No rewardable material

1-2 Produces individual words and set phrases
Limited accuracy in use of straightforward grammatical structures,limited success
in referring to past, present and future events; regular errors prevent meaning
being conveyed

3-5 Produces simple, short sentences, which are sometimes linked
Some accurate use of straightforward grammatical structures, occasional success
in referring to past, present and future events; sometimes errors prevent meaning
being conveyed

6-7 Produces some more complex sentences with some appropriate linking

Mostly accurate use of straightforward grammatical structures, some success in
referring to past, present and future events; occasionally errors prevent meaning
being conveyed

Additional guidance

Complex language is considered to be:

varied and complex word order
extended sentences that include a range of structures that help to justify ideas
conceptually more challenging language.

Straightforward grammatical structures are considered to be:

repetitive, simple word order
short, simple sentences that use a repetitive range of common, high-frequency structures.

Errors: The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that prevent meaning being conveyed:

errors that mean the reader cannot understand the message, for example consistent
mismatching of subject, predicate and parts of speech; incorrect choice of vocabulary; use of
spoken language; wrong tense; and spelling errors that change the meaning. For instance,
o1 (mother) and FET (black) should be considered acceptable but 181 (head) and F17 (deaf)
should not

errors that convey the wrong message
mother-tongue interference.

NB: these are examples only and do not constitute a finite list.




Question 6 (26 marks)
For this question, students’ work is marked by Pearson using assessment criteria given in two mark grids:

e communication and content
e linguistic knowledge and accuracy.

This question contains three bullet points that form part of the task. Failure to cover all
three bullet points will impact on the marks that can be awarded against the requirements
of the communication and content mark grid. In order to access marks in the top band,
students must refer to all bullet points and meet the other assessment criteria in the top
band.

The student is expected to produce 140 words for this task. The number of words is
approximate and students will not be penalised for writing more or fewer words than
recommended in the word count. All work produced by the student must be marked.

Question 6: communication and content mark grid

¢ No rewardable material

1-3 e Communicates brief information relevant to the task with little development

e Occasional adaptation of language to explain or interest or persuade;
straightforward thoughts and ideas are expressed with occasional success

e Variable use of appropriate vocabulary, register and style; repetitive use of
common, familiar language

4-7 e Communicates information relevant to the task with some development of key
points and ideas

e Some effective adaptation of language to explain or interest or persuade; thoughts
and ideas are expressed with some success

e Some appropriate use of vocabulary, register and style; some different examples
of common familiar language

8-10 ¢ Communicates information relevant to the task with development of key points
and ideas

e Effective and sometimes creative adaptation of language to explain or interest or
persuade; thoughts and ideas are expressed successfully

e Appropriate use of vocabulary, register and style; some examples of uncommon
language

11-13 e Communicates information relevant to the task with consistent expansion of key
points and ideas

e Creative adaptation of language to explain or interest or persuade; thoughts and
ideas are expressed with flair

e Consistently appropriate use of vocabulary, register and style throughout; a wide
variety of language is used

Additional guidance

Creative language use - using language in a way designed to create effect and interest.
Goes beyond the standard or predictable response.

Register and style definition — language used is at a suitable level of formality for the
purpose of the task and, where appropriate, the target audience.



Question 6: linguistic knowledge and accuracy mark grid

No rewardable material

Uses mainly straightforward grammatical structures

Occasional sequences of fluent writing, with occasional extended, linked sentences
Occasionally accurate straightforward language and grammatical structures;
occasionally successful references to past, present and future events; errors occur
that sometimes hinder clarity of communication

4-7

Some variation of grammatical structures, including some repetitive instances of
complex language

Prolonged sequences of fluent writing, with some extended, well-linked sentences
Generally accurate language and structures; some successful references to past,
present and future events; errors occur that occasionally hinder clarity of
communication

8-10

Uses a variety of grammatical structures including some different examples of
complex language

Mostly fluent response, with frequent extended sentences, mostly well linked
Mostly accurate language and structures; mostly successful references to past,
present and future events; errors rarely hinder clarity of communication

11-13

Uses a wide variety of grammatical structures, including complex language
Fluent response throughout with extended, well-linked sentences

Consistently accurate language and structures; consistently successful references
to past, present and future events; few or no errors that hinder the clarity of the
communication

Additional guidance

Complex language is considered to be:
e varied and complex word order

e extended sentences that include a range of structures that help to justify ideas
e conceptually more challenging language.

Straightforward grammatical structures are considered to be:
e repetitive, simple word order

e short, simple sentences that use a repetitive range of common, high-frequency structures.




Errors: students are not expected to produce perfect, error-free writing in order to access the top
band. The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that do not hinder clarity:

e errors that do not affect the meaning, for example incorrect use of a pronoun where there is no
confusion as to whom the pronoun refers; incorrect arrangement of words that does not hinder
clarity; occasional use of spoken language that does not affect the meaning; incomplete
sentences that convey the intended message.

e infrequent errors that do not distract the reader from the content and which result in coherent
writing.

Errors that hinder clarity:
e errors that make writing difficult to understand immediately (even if the meaning is eventually

understood)/errors that force readers to re-read in order to understand what is meant
e frequent errors hinder clarity as they will distract the reader from the content of the writing.

NB: these are examples only and do not constitute a finite list.



Paper 1 Marking Principles for Section C

Mis-spelling is tolerated as long as it does not lead to ambiguity, e.g. drought misspelled as

drowght would be acceptable but misspelled as draught would be unacceptable as this would

lead to ambiguity.

Students are likely to write variants on the acceptable answers listed and these should be
considered as acceptable if they convey the same intended meaning.

Translation is successful if a Bangla speaker would understand the translation without having

understood the text in its original language.

Question | Text Correct answer Acceptable | Reject Mark
number answers
7 Amongst the countries | wfEFe G (refefer vl @M BIGIR (1)
in South Asia T (TR
Bangladesh is one of | 1%TICH @316 (W] GIFN GF (M | SoN/ G (v (1)
the few countries
where female CTLI ARHAHS e IS AFAS (1)
employment T / e RISk
has increased in the oS T I CoCACR @TOCR WO IQ(F PCACY (1)
last decade.
between 2003 and 2000 (ATF 2050 AH | 13 TR fon WYy 2009 (1)
2016,
Ty (RF I T | we
CRICTAET | wyy sody
ASNIE]
The female FEI R R ISR AFAR (1)
employment SeF
has increased by10% | 0% (JTBCRI T WO/l | 00% ([TSCR] (1)
I coreaczl
While acknowledging | 3IEMC3R S FI1 | ey SRS (1)
Bangladesh'’s PACEAS
achievements,
in the workplace. IR JIGF G | #rwiewcg (1)
women are still in the G948 AR ALY | A/ AFIMS 2y (1)
minority T (M AT | 3y
|
As they represent only | F19I ORI feg Mg | ORI STFCFION | STFCFICH (1)
36% of the workforce | vy, 2fofifig F /Y oY WOIH | TR
Sl Togie
PE
to access jobs in all SRCHCY HIFIRECS ] RN S CRICT CICAT (1)
sectors ANSAN G f Ca/engany
women have equality SRS AR ATOT | FRAHR SRR | I (1)
of opportunity TR [l ST T




to ensure that Sl fAf*6© 419 &=y G AR Gy | S5 (1)
in employment laws FIALE I3 @ SRS FRCES A3 (1)
and policies BRG] Siff3y
There is a need for a AR TG WS AL/ | SN2 9 AT (1)
change G
between men and AR G2 AFAE AT | R @ HFCI | JORIGR AT (1)
women A / (0T 8

RIEIA]]
Reducing the wage NG GILI/ (IO (T | TG T/ QP (o (1)
gap FAIC OO/ R4

I
create better ©f TIPS ST O] | SRS SICeT/ T (1)
equality. toft Faroe T AR

FACOS
would help. STRRSY/AIZRY FACI TP 2@ SIS A& Al (1)
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Paper 1 marking principles for Sections A and B Candidate

responses

For open-response questions, the candidate does not have to write in full sentences. If appropriate, they

may respond using single words or phrases.

There are no marks for quality of language in this paper, so errors and omissions in spelling and grammar will be
tolerated as long as they do not interfere with

communication.

Consider only as many elements as there are marks, for example for a 1-mark answer, the candidate’s first
response is taken for assessment, even if this response is incorrect but the correct information follows as a
further element. Where 2 marks are available, award the individual marks discretely but apply the order of
elementsrule.

Written responses in the wrong language cannot be awarded a mark.

Guidance to examiners on understanding and applying the mark scheme

Alternative ways of giving the same answer are indicated with a slash (/) in between the alternative
responses, for example: It’s cheap/affordable.

Where appropriate, responses are separated with ‘AND’ for compulsory answers and ‘OR’ for

possible answers.

Any parts of an answer that are not essential are bracketed, for example: Q: What did he study? A: (He studied)
Maths.

Candidates are likely to write variants on the acceptable answers listed, and these should be considered as
acceptable if they convey the correct answer.

All possible answers have the correct amount of marks appropriate for the information required indicated
in brackets.

Suggested incorrect answers are indicated in the ‘Reject’ column.



Paper 1: Reading, Writing and Translation mark scheme Section

A
Question Answer Mark
number
xample: B
1(a) C (1)
1(b) D (1)
1(c) F (1)
1(d) L (1)
1(e) K (1)
1(f) G (1)
Question | Answer Mark
number
Example: | Faria
2(a) Nayeem (1) Rashed (1) (2)
2(b) Nayeem (1)
2(c) Nayeen (1)
2(d) Faria (1)
2(e) Rashed (1)
2(f) Faria (1) Rashed (1) (2)
Question Answer Accept Reject Mark
number
3(a) In Gazipur In Dhaka city Q)
3(b) To the north Nearby 1)
3(¢) Gazi family (1) Government 2)
AND Zamindar family
Royal family
3(d) Sal tree (1) Sal forest Plant 2)
AND
Animal (1) Beast Bird
3(e) Is recognised (officially) Is approved by the Disapproval aQ
government
3(f) Of the guesthouse (1) Guesthouse Games facilities ?2)
AND
Trip on a boat (1) Riding/journey by a boat | Journey by a train
3(g) Education (1) Studies Job ?2)
AND
For research purposes (1) Research Training
3(h) Government Government Employee )




Question Answer Accept Reject Mark

number

4(a)(i) The following two: Not having the mother Happy memories )
Staying without the mother for around Celebration
the first time (1)

+ Staying in a boarding Staying over at

in order to implement the school and studying someone else’s house
parents’ decision to admit to a

boarding school (for appropriate Studying in another
education) (1) city

4(a)(ii) Any two from the following: Courteous/of gentle Angry/short- ?2)
Of soft nature (1) nature/polite/humble tempered
OR
A cheerful person (1)

OR
Polite (1)

4(a)(iii) The following three: If an older sibling were Admission would 3)
Admission would have been studying in the school, the | have been rejected in
possible if the siblings were admission would have the case of too many
studying in the same school (1) been easier. siblings
OR
No written admission test would | Admission would have Writing an essay
have been required (1) been possible even would have been
OR without an admission test. | required
An verbal exam would have been
required (1) The questions will need to | Answers would need

be answered in front of to be provided upon
the teacher. reading the
questions.

4(a)(iv) Reading stories of renowned Would read horror stories | Would read popular | (1)
authors/horror stories (1) written by favourite poems

authors
4(a)(v) The following two: Would go to watch Was involved in a 2)

Watched cinema after skipping
afternoon classes (1)

AND

Skipped school

movies made out of books
of the favourites authors,
during school hours

Watched matinee show

fight

Total marks for Q4a =10




Question Answer Accept Reject Mark
number
4(b)(i) Touched their heart (1) Is upset Did not like ?2)
OR
Empathetic (1) Is said/cannot succeed in | Is happy
AND life
(when parents fail to give their
children time) they become
frustrated/skip school/do not
progress in education/are
deprived of intimacy with parents
4(b)(ii) When both parents work, Parents are able to fulfil The children expect a | (2)

Financial solvency comes / it is
possible to meet the children’ s
needs/it is possible to admit the
children to good schools

AND
parents' love/care brings success

for the children/ensures
attention/progress in studies.

their children’s needs if
there is financial
solvency.

They would not skip
school/would be able to
fulfil their wishes with the
parents (1)

luxurious life.

Only financial
strength can make a
person succeed.




Section B

General guidance on using levels-based mark schemes Step 1 Decide on

a band

Examiners should first of all consider the answer as a whole and then decide which descriptors most closely match the
answer and place it in that band. The descriptors for each bandindicate the different features that will be seen in the
student’s answer for that band.

When assigning a level you should look at the overall quality of the answer and not focus disproportionately on small
and specific parts of the answer where the student has not performed quite as well as the rest. If the answer covers
different aspects of different bands of the mark scheme, you should use a ‘best fit" approach for defining the level and
then use the variability of the response to help decide the mark within the level. For example, if theresponse is
predominantly in band 4—7 with a small amount of band 8-10 material, it would be placed in band 4-7 but be awarded
a mark near the top of the band because of the band 8-10content.

Step 2 Decide on a mark

Once you have decided on a band, you will then need to decide on a mark within the band.

You will decide on the mark to award based on the quality of the answer; you will award amark towards the top or
bottom of that band depending on how students have evidenced each of the descriptor bullet points.

You will modify the mark based on how securely the trait descriptors are met in thatband.

You will need to go back through the answer as you apply the mark scheme to clarify pointsand assure yourself that the
band and the mark are appropriate.



Assessment Criteria
Question 5 (14 marks)

For this question, students’ work is marked by Pearson using assessment criteria
given in two mark grids:

communication and content
linguistic knowledge and accuracy.

The student is expected to produce 80 words for this task. The number of words is approximate and students will

not be penalised for writing more or fewer words than recommended in the word count. All work produced by the
student must be marked.

Question 5: communication and content mark grid

Mark Descriptor

0 ¢ No rewardable material

1-2 e Limited ability to use language to narrate and describe people, events andideas;
communication of information is occasionally successful

e Repetitive use of a limited selection of common words and phrases; limited use of
appropriate register and style

3-5 e Some successful use of language to narrate and describe people, events and
ideas; communication of relevant information is sometimes successful

e Some successful but repetitive use of common, familiar vocabulary; some use of
appropriate register and style

6-7 e Successful use of language to narrate and describe people, events andideas;
communication of information is often successful

e A range of familiar and less common vocabulary and expression is evident; mostly
appropriate use of register and style

Additional guidance

Register and style definition — language used is at a suitable level of formality for the purpose of the task and,
where appropriate, the target audience.



Question 5: linguistic knowledge and accuracy mark grid

Mark Descriptor

0 ¢ No rewardable material

1-2 e Produces individual words and set phrases

e Limited accuracy in use of straightforward grammatical structures,limited success
in referring to past, present and future events; regular errors prevent meaning
being conveyed

3-5 e Produces simple, short sentences, which are sometimes linked

e Some accurate use of straightforward grammatical structures, occasional success
in referring to past, present and future events; sometimes errors prevent meaning
being conveyed

6-7 e Produces some more complex sentences with some appropriate linking

e Mostly accurate use of straightforward grammatical structures, some success in
referring to past, present and future events; occasionally errors prevent meaning
being conveyed

Additional guidance

Complex language is considered to be:
e varied and complex word order

e extended sentences that include a range of structures that help to justify ideas
e conceptually more challenging language.

Straightforward grammatical structures are considered to be:
e repetitive, simple word order

e short, simple sentences that use a repetitive range of common, high-frequency structures.

Errors: The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that prevent meaning being conveyed:
e errors that mean the reader cannot understand the message, for example consistent mismatching of subject,

predicate and parts of speech; incorrect choice of vocabulary; use of spoken language; wrong tense; and
spelling errors that change the meaning. Forinstance,
a1 (mother) and 1T (black) should be considered acceptable but 1 (head) and 1T (deaf) should
not
e errors that convey the wrong message
e mother-tongue interference.

NB: these are examples only and do not constitute a finite list.



Question 6 (26 marks)

For this question, students’ work is marked by Pearson using assessment criteria given in two mark grids:

communication and content
linguistic knowledge and accuracy.

This question contains three bullet points that form part of the task. Failure to cover all three bullet
points will impact on the marks that can be awarded against the requirements of the
communication and content mark grid. In order to access marks in the top band, students must
refer to all bullet points and meet the other assessment criteria in the top band.

The student is expected to produce 140 words for this task. The number of words is

approximate and students will not be penalised for writing more or fewer words than
recommended in the word count. All work produced by the student must be marked.

Question 6: communication and content mark grid

Mark Descriptor

0 e No rewardable material

1-3 e Communicates brief information relevant to the task with little development

e Occasional adaptation of language to explain or interest or persuade;
straightforward thoughts and ideas are expressed with occasional success

e Variable use of appropriate vocabulary, register and style; repetitive use of
common, familiar language

4-7 ¢ Communicates information relevant to the task with some development of key
points and ideas

e Some effective adaptation of language to explain or interest or persuade; thoughts
and ideas are expressed with some success

e Some appropriate use of vocabulary, register and style; some different examples
of common familiar language

8-10 e Communicates information relevant to the task with development of key points
and ideas

e Effective and sometimes creative adaptation of language to explain or interestor
persuade; thoughts and ideas are expressed successfully

e Appropriate use of vocabulary, register and style; some examples of uncommon
language

11-13 ¢ Communicates information relevant to the task with consistent expansion of key
points and ideas

e Creative adaptation of language to explain or interest or persuade; thoughts and
ideas are expressed with flair

e Consistently appropriate use of vocabulary, register and style throughout; a wide
variety of language is used

Additional guidance

Creative language use — using language in a way designed to create effect and interest. Goes
beyond the standard or predictable response.

Register and style definition — language used is at a suitable level of formality for the purpose
of the task and, where appropriate, the target audience.



Question 6: linguistic knowledge and accuracy mark grid

Mark Descriptor

0 ¢ No rewardable material

1-3 e Uses mainly straightforward grammatical structures

e Occasional sequences of fluent writing, with occasional extended, linked sentences

e Occasionally accurate straightforward language and grammatical structures;
occasionally successful references to past, present and future events; errors occur
that sometimes hinder clarity of communication

4-7 e Some variation of grammatical structures, including some repetitive instances of
complex language

e Prolonged sequences of fluent writing, with some extended, well-linked sentences

e Generally accurate language and structures; some successful references to past,
present and future events; errors occur that occasionally hinder clarity of
communication

8-10 e Uses a variety of grammatical structures including some different examples of
complex language

e Mostly fluent response, with frequent extended sentences, mostly well linked

e Mostly accurate language and structures; mostly successful references to past,
present and future events; errors rarely hinder clarity of communication

11-13 e Uses a wide variety of grammatical structures, including complex language

e Fluent response throughout with extended, well-linked sentences

e Consistently accurate language and structures; consistently successful references
to past, present and future events; few or no errors that hinder the clarity of the
communication

Additional guidance

Complex language is considered to be:
varied and complex word order

extended sentences that include a range of structures that help to justify ideas
conceptually more challenging language.

Straightforward grammatical structures are considered to be:
repetitive, simple word order

short, simple sentences that use a repetitive range of common, high-frequency structures.



Errors: students are not expected to produce perfect, error-free writing in order to access the top band.
The mark grid describes the frequency of errors and the impact that errors have on coherence.

Errors that do not hinder clarity:

e errors that do not affect the meaning, for example incorrect use of a pronoun where there isno confusion as to whom
the pronoun refers; incorrect arrangement of words that does not hinder clarity; occasional use of spoken language
that does not affect the meaning; incomplete sentences that convey the intended message.

e infrequent errors that do not distract the reader from the content and which result incoherent writing.

Errors that hinder clarity:
e errors that make writing difficult to understand immediately (even if the meaning iseventually understood)/errors

that force readers to re-read in order to understand what is meant
e frequent errors hinder clarity as they will distract the reader from the content of the writing.

NB: these are examples only and do not constitute a finite list.



Paper 1 Marking Principles for Section C

Mis-spelling is tolerated as long as it does not lead to ambiguity, e.g. drought misspelled as
drowght would be acceptable but misspelled as draught would be unacceptable as this would lead
to ambiguity.

Students are likely to write variants on the acceptable answers listed and these should be considered
as acceptable if they convey the same intended meaning.

Translation is successful if a Bangla speaker would understand the translation without having
understood the text in its original language.



Question | Text Correct answer Acceptable answers Reject Mark
number
7 Amongst the Amongst the In countries Asia 1)
countries in countries in South
South Asia Asia
Bangladesh is Bangladesh is a Such a country One of the aQ
one of the few country countries
countries
where female Where employment | Work opportunities for | Of men Q)
employment for women women
has increased in | Has increased in the | Have increased. Has decreased in | (1)
the last decade. | last decade. the last century.
between 2003 Between 2003 and Between two thousand | Only 2003 or only | (1)
and 2016, 2016 and three and twenty 2016
sixteen
The female Employment for Work opportunities for | Of men )
employment women women
has increased by | Has increased by Has increased by ten Q)
10% 10% percent
While Even if Bangladesh’s | Success Decline 1)
acknowledging | achievements are
Bangladesh's acknowledged
achievements,
women there Women are still a The number of The number of 1)
still in the minority there. women/girls is low men is high
minority
in the workplace | In the workplace In workplaces In education 1)
As they Because they They only represent 36 | Majority of the 1)
represent only represent only 36% percent of the workforce
36% of the of the workforce.
workforce workforce/manpower
to access jobs in | In obtaining jobs in | In acquiring jobs Greater aQ
all sectors all sectors
women have Equal opportunities Protection of equal Of boys and 1)
equal for women opportunities for girls/children
opportunities women
to ensure that To ensure To sustain Uncertain 1)
in the In the employment 1)
employment laws and legislations
laws and the
policies
There isaneed | Changes are Changes are necessary | Laws would not 1)
for a change required. change
between men Between women and | Between women and Between boys and | (1)
and women men men girls
Reducing the Reducing the wage By reducing Higher wages 1)
pay gap discrimination gaps/discrimination/dif
ferences in wages
creating better In creating relative In ensuring Uncertainty )
equality. equality better/greater equality
will also help. will help It will be helpful. Will not be 1)

useful.
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